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Inequality tasks:

1) —169.064 > 5.6(1.9x - 7.2)

3) 237.9<7.8(-8.7-4p)

5) =710.266 < —10.7(13.6r — 5.7)

7) —199.096 > -8.2(1 —9.7n)

9) —1176.38 > 12.8x + 13(-1.1 — 13.4x)

11) 4.4(1.1 - 4.087a) < —225.33984

13) 13.7(1 - 10.9p) > 1969.923
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2) 11.057 -9.2(—n —3.1) > 160.145

4) 4.1(4m - 9.8) < 173.02

6) 973.1358 > —13.71(1 — 11.8x)

8) —533.664 > —13.6(3.6v - 10.8)

10) 11.9 +7.5(13.1x — 7.15) > -798.25

12) —1229.75 < 11.5(7.8%k+ 12.1) + 11.7%

14) 157.45> 10x +9.5(x = 9.7)
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15) -162.3238 > -0.7 + 3.9(~0.942 + 3b) 16) —6.1(5.3n + 4.089) < —147.7969

17) 8.5(6.4 + 6.9m) < —403.07 18) 9.01(~10.028x - 5.73) > 156.182944
19) 165.4921992 > 8.2r + 10.052(7.4 + 0.2r) 20) 519.302 > 9.8(9 - 5.3n)

21) -7.4(8.2b + 2.2) < 353.868 22) —10.7(9.6n - 7.5) < —392.262

23) —879.8935 < 13.65(1 + 5.3v) — 3.7 24) 162.09182 > 7.4(9.8 - 1.3x)

25) -12.2(-3.3k - 10.1) < 264.13 26) -12.6(a - 13.8) - 12.4< 233.3

27) -1511.7539 = -13.7(1 - 12.7x) 28) —9.4(x - 7.4) > 189.88

29) -9.3(1 + 13n) > 595.2 30) 13+ 12.8(k + 5.3) < 161.48
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Inequality tasks:

1) —169.064 > 5.6(1.9x - 7.2)
x<-12.1

3) 237.9<7.8(-8.7-4p)

p<-938

5) =710.266 < —10.7(13.6r — 5.7)
r<53

7) —199.096 > -8.2(1 —9.7n)
n<-24

9) —1176.38 > 12.8x + 13(-1.1 — 13.4x)
x=>7.2

11) 4.4(1.1 - 4.087(1) < -225.33984
a>12.8

13) 13.7(1 - 10.9p) > 1969.923
p<-13.1
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2) 11.057 -9.2(—n —3.1) > 160.145
n>6.5

4) 4.1(4m - 9.8) < 173.02

m<13

6) 973.1358 > —13.71(1 — 11.8x)
x<6.1

8) —533.664 > —13.6(3.6v - 10.8)
v>13.9

10) 11.9 +7.5(13.1x — 7.15) > -798.25
x>-7.7

12) —1229.75 < 11.5(7.8%k+ 12.1) + 11.7%
k>-135

14) 157.45> 10x +9.5(x = 9.7)
x<1238



15) -162.3238 = -0.7 + 3.9(-0.942 + 3h)
b<-135

17) 8.5(6.4 + 6.9m) < —403.07

m< -7.8

19) 165.4921992 > 8.2r + 10.052(7.4 + 0.2r)
r <8.923

21) -7.4(8.2b + 2.2) < 353.868
b>-6.1

23) -879.8935 < 13.65(1 + 5.3v) - 3.7
v>-123

25) -12.2(-3.3k - 10.1) < 264.13
k<35

27) -1511.7539 = -13.7(1 - 12.7x)
x<-8.61

29) -9.3(1 + 13n) > 595.2

n<-5

16) —6.1(5.3n + 4.089) < —147.7969
n=3.8

18) 9.01(—10.028x - 5.73) > 156.182944
X< =23

20) 519.302 > 9.8(9 - 5.3n)
n>-8.3

22) —10.7(9.6n - 7.5) < —392.262
n=4.6

24) 162.09182 > 7.4(9.8 - 1.3x)
x>-9.311

26) -12.6(a - 13.8) - 12.4< 233.3
a=-b7

28) —9.4(x - 7.4) > 189.88
x<-12.8

30) 13+ 12.8(k +5.3) < 161.48
k<6.3
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